
1. Найти общее решение дифференциального уравнения: 

 𝒂) у′ + 2ху = хе−х2
;              𝒃) 𝑦′ − 4𝑦 = 2𝑒3𝑥;            𝒄) 𝑦′ + 𝑦𝑐𝑡𝑔𝑥 = 𝑐𝑜𝑠𝑥; 

 𝒅) 3𝑥2(𝑥3 + 𝑦)𝑑𝑥 = 𝑑𝑦;      𝒆) 𝑦′ + 2𝑦sin2𝑥 = sin𝑥cos𝑥;   
 𝒇) 𝑦′ − 𝑦 − 𝑥𝑒𝑥 = 0;           𝒈) 𝑥𝑦′ = 𝑦 + 2𝑥3;     
 𝒉) 𝑦′ − 2𝑦 = 𝑥;    𝒊) 𝑥2𝑦′ + 𝑥𝑦 + 2 = 0. 

 

          

 

        Ответы: 

𝒂) 𝑦 = (
𝑥2

2
+ 𝐶) ∙ 𝑒−𝑥2

 ;  b) 𝑦 = 𝐶𝑒4𝑥 − 2𝑒3𝑥 ;            𝒄)  𝑦 =
𝐶

𝑠𝑖𝑛𝑥
+

𝑠𝑖𝑛𝑥

2
;   

𝒅)  𝑦 = −𝑥3 − 1 + 𝑒𝑥3
;   e)  𝑦 =

1

4
+ 𝐶𝑒𝑐𝑜𝑠2𝑥 ;            𝒇) 𝑦 = 𝑒𝑥 (

𝑥2

2
+ 𝐶); 

𝒈) 𝑦 = 𝑥3 + 𝐶1𝑥;               𝒉) −
𝟏

𝟒
(1 + 2𝑥) + 𝐶𝑒2𝑥 ;     𝒊) 𝑦 = −

2ln|𝑥|

𝑥
+

𝐶

𝑥
.    

 
2. Решить задачу Коши.         

𝒂) 𝑦′ +
𝑦

𝑥
− 2𝑒𝑥2

= 0, 𝑦(1) = 𝑒;              𝒃) 𝑦′ − 𝑦𝑡𝑔𝑥 = 𝑠𝑖𝑛𝑥, 𝑦(0) = 1;        

𝒄) (𝑥 + 𝑦2)𝑑𝑦 = 𝑦𝑑𝑥, 𝑦(0) = 2;       𝒅)  𝑦′ + 5𝑦 = 2𝑒−3𝑥 , 𝑦(0) = 2; 

𝒆) 𝑦′ +
3

𝑥
𝑦 =

2

𝑥2  , 𝑦(1) = 2. 

 

        Ответы: 

a) y =
𝑒𝑥2

𝑥
;   b)  𝑦 =

1

3𝑐𝑜𝑠𝑥
(4 − 𝑐𝑜𝑠2𝑥);  c)  𝑥 = 𝑦2 − 2𝑦;        

𝒅)  𝑦 = 𝑒−3𝑥 + 𝑒−5𝑥 ;  𝒆) 𝑦 =
1

𝑥
+

1

𝑥3
. 

 

Уровень B. 

 

1. Найти общее решение дифференциального уравнения.  

a) (4x-𝑦4)𝑦′ = 2𝑦;                                 b) (3y + 1)dx = (5y + 3x)dy;     

c)  (𝑥𝑦′ − 𝑙𝑛2𝑥)𝑙𝑛𝑥 = 3𝑦;                       𝒅) (𝑥 + 2)𝑑𝑦 = (3𝑦 + 2(𝑥 + 2)5)𝑑𝑥;                             
e) 𝑦3𝑦′ − 𝑥2𝑦4 = 𝑥2;                                 𝒇) 𝑦′ − 3𝑥2𝑦 = 𝑥2𝑦4;         

𝒈) 𝑑𝑦(𝑥 + 𝑥3(𝑦 + 2)) = (𝑦 + 2)𝑑𝑥;     𝒉) 𝑦′ − 6𝑥𝑦 = 6𝑥 √𝑦23 ;       

𝒊) 2𝑦′ = 𝑦3(𝑥2 − 1)𝑐𝑜𝑠𝑥 −
𝑦

𝑥 − 1
;         𝒋) (𝑥4 + 𝑒−2𝑦) = 4𝑥3;    

𝒌) (𝒚𝟐 − 1)𝑑𝑥 − 𝑦[𝑥 + (𝑦2 − 1)√𝑥]𝑑𝑦 = 0.  

 

        Ответы: 

 𝒂) 𝑥 = −
1

4
𝑦4 + 𝐶𝑦2, 𝑦 = 0;      

 𝒃) 𝑥 =
5

9
(3𝑦 + 1)ln|3𝑦 + 1| +

5

9
+ 𝐶(3𝑦 + 1), 3𝑦 + 1 = 0;         

 c) 𝑦 = ln|ln𝑥| ∙ ln3𝑥 + 𝐶ln3𝑥;  𝒅) 𝑦 = (𝑥 + 2)5 + 𝐶(𝑥 + 2)3, 𝑥 = −2; 



 𝒆) 𝑦4 = 𝐶𝑒
4
3𝑥3

− 1;  𝒇) 𝑦−3 = 𝐶𝑒−3𝑥3
−

1

3
, 𝑦 = 0;     

 𝒈) 
1

𝑥2
=

𝐶

(𝑦+2)2
−

2

3
(𝑦 + 2), 𝑦 = −2, 𝑥 = 0;  𝒉) 𝑦 = (𝐶𝑒𝑥2

− 1)
3

, 𝑦 = 0;   

 i)   
1

𝑦2
= −(𝑥2 − 1)sin𝑥 − (𝑥 − 1)cos𝑥 + 𝐶(𝑥 − 1), 𝑦 = 0;  

 𝒋) 𝑥4 = −
1

3
𝑒−2𝑦 + 𝐶𝑒𝑦 ;  𝒌) 3√𝑥 = 𝑦2 − 1 + 𝐶|𝑦2 − 1|

1

4, 𝑥 = 0, 𝑦 = ∓1. 

 
 


